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import sys
sys.path.append("statlib")
from xtest import kappa_statistic

kappa_statistic(o, w=False, conflevel=0.95, verbose=True)
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3 {EMABI
3.1 EH#BULDBE

X = [[12, 61 1]!
3, 19, 417,
L 2, 5, 34]]

import sys
sys.path.append("statlib")

from xtest import kappa_statistic

ans = kappa_statistic(x)

Kappa statistic
kappa = 0.61525
Z 7.52025
p value < 0.0001
[0.47219, 0.75831
sigma_kappa = 0.07299
0.08181

conf.int.

sigma_kappa_0

3.2 EHDHZHE

w= [[0, 1, 3],
[1, &, 11,
[3, 1, 0]1]
ans = kappa_statistic(x, w)

Kappa statistic(weighted)
kappa = 0.69326
Z = 6.15628
p value < 0.0001
[0.55870, 0.82783
sigma_kappa = 0.06866
0.11261

conf.int.

sigma_kappa_0
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4.1 sklearn.metrics.cohen_kappa_score()

sklearn.metrics.cohen_kappa_score() IZJfi57—% ZNRIZT 3,
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from sklearn.metrics import cohen_kappa_score
cohen_kappa_score(a, b)

0.6152535151256924

HAME D k1, weights="linear" %> weights="quadratic" MR L TE L\ (NARE» SEEN S
o3 1,2,3,... £ Bh1,223%, ... L BD), A LY scikit-learn 0.20.3 (213 sample_weights % §§
ETELLE2=27NIEFENTHEY, FHEINTLRVWE ),

# weights="linear"

w = [[0, 1, 2],
[]-’ 0’ 1]1
[z, 1, 01]

ans = kappa_statistic(x, w, verbose=False)
print (ans["kappa"])

0.6634050880626223

cohen_kappa_score(a, b, weights="linear")

0.6634050880626223

# weights="quadratic"

w = [[0, 1, 4],
(1, 0, 17,
(4, 1, 0]]

ans = kappa_statistic(x, w, verbose=False)
print (ans["kappa"])

0.713587921847247

cohen_kappa_score(a, b, weights="quadratic")

0.713587921847247



4.2 skll.metrics.kappa()

skll.metrics.kappa() |3 weights="1linear" #» weights="quadratic" Ofic, EED RKILEFIT
HAZEETE S, AANELLOEEDT 74V TH5 (weights=None),

w = [[@, 1, 3]1
(L, o, 11,
(3, 1, 011

ans = kappa_statistic(x, w, verbose=False)
print (ans["kappa"])

import numpy as np
from skll.metrics import kappa

kappa(a, b, weights=np.array([[®, 1, 3], [1, ®, 1], [3, 1, 0]11))




